GOOL

SN0 Hravw2

1 N"INI?2 NN2AAPN

nmavil NN M?7RY - NP2MIr21a mxnwn - 10 71a

01Myn 101N

3 NYNODN MYNY .1

www.gool.co.il

4—



10 P19 r MIRY - NPHNIMOD MINNWYN

GUUL

:NINIDN NI?RY

$MMOINY

P(X)=ax’+bx® +cx+d : Nan 0WN9N 7D (1

£33 )N ON DDA DY DINTPNN NN NN N
PRV NOD 2x+3-2 PONnn owon i
.P(45)=27 :0»pn owhan i

DIPPN) X=0 NIV IMPN DMOPN VW y=P(x) M¥pNa> il
1
x=2 MY IMPN

.y =P(X) MSPNIN 97 DX LVLIVY NYDPY DVTPNN NN 28N .2

P(x)=ax’+bx* —9ax—3b—24a : DWNON DV b-) a DIVNIAN DI NN NN (2
P(1)=-10 : 00 1IRW NOY x* —9-2 Ponnn P(x)-vw )N ON

2Y20 N 939 IINY KDY (x-1)°-2 PHNnn P(x)=x*" —mx™ +nx™ —1 0 N (3

(x=1)°"-2 P(x)=ax® +4x° +bx* +2 : D990 PINNN b-1 @ YW DDW N MY (4
ITINY NI

IMN DPONK DNY,2 INY D72PN (3x—4)-2 P(Xx) DWNON NN DPIND OX - (5
-2 TPINY D92PN (x-1)-2
(x=1)(3x—4)-2 P(x) D9 S¥ PI>NN NMINY NN K¥N

X—3-2)IMN PHN DN, 1 PIRY 9AP) 4— X2 -2 IMK PYM OX . P(x) DWN9N Py (6
(4=x)(x=3)-2 P(x) DWW YW PINN MINY NN NN .4 DINY 52D)

1 www.gool.co.il



10 P19 e MORY - NPONOINIY MNNYN

GUUL

x—1-2PONNN (0VNMI9 ¢-1 b)), P(x)=x"+bx* +cx* +2x—1 : 0WNaN (7
R, =41 MINV DY x—-2-2PONNM R, = 2% INY DY

.C-Y b NN N¥D N
1x* =3x-2 P(x) NPoNa maRwm mnnjnn .2

P(x)=x*-5x* +ax’ —10x—28 : DWW N (8
X2 =5x+b D9 MINRY NOY PONNN P(X) DN

by a ©1IUPI9N MY NN RIN LN
.DX2577107 DM90NN DY P(x)=0 NXNWNN YWY NN IVN .2

=X° +(1-K?)x* + (1-3k) x—=1=0 NXNWNRY Kk 12PN YW DOWIPR MY (9

JINSNY K MY DRNWNN DY NININN DI NN XN T X =1 PNINS W

NN
S TPYOOY NOYNIN IRNYNID NV MINNDN YTHOY DXTNOND P NTYPNI NINIAN NONYN

t° —2t? (2+\/§)+t(\/192 +1)—J1_2 —0 ANNWNRN SNV I NN X¥N (10
1-5 v YV 0V Y ND9ON Y T DN

=1, 2, 1++/2i : 0N PYMUY 1OV NOYNN SWNN D99 NN (11

LZ=14+1 NI TINMINM TNRY T OX 2 =223 +22+22-2=0 DRNWYNHN NN NNO (12

2 www.gool.co.il



10 P19 e MORY - NPONOINIY MNNYN

GOOL

IV MIAIVN

1 1 27

QNP .a P(X)==xX*+-=x*+— N (@1
?J ™ (x)=3 FRRETRON
8l a=1 b=1 @

min 4
NN NORY - (3
.a=2,b=-8 (4
) R(x)=12x—14 (s

R(X)==x"-= (6

,c== N (7

x* +3.25x* +9.75x +29.75 : N, 91.25x—1 : INVY .2
X, =27 %, =21 2 .a=-12,b=-14 X (8
X =X%=1,%=-1:091pn k=0 My (9

% =1, x2,3=%(—9:r\/£) . D92p0 k=-3 My

Ct, =243, 4, =12 (10
P(x)=x"=3x"+3x*+x-6 (11

2, =1%i,2,,=+1 (12

www.gool.co.il



